A $UU Lys 2
#AA Phe
5GU Thr
CCATrp
ICC Gly
CAU Ini
CAU Met
5GC Ala
ICG Arg

66 5AC Val
5GG Pro
JAU Ile
86— QUATyr 1
QUA Tyr 2
CAG Leu
GGA Ser
68 GCU Ser
5GA Ser

CAC Val
F 3f-cAumi
GAC Val
GCA Cys
GUC Asp
GUG His
MUG GIn
MGG Pro
UGG Pro
MUC Glu
NUC Glu

GCG Arg
GCC Gly 1
GCC Gly2
——— GGG Pro
62 CCC Gly
NCC Gly
GGU Thr

$UU Lys 1

BAU Met
GAA Phe
GUA Tyr
6— BCA Trp
MUU Lys

51 CGC Ala
s E UGC Ala
GGC Ala

C NAU Ile
NCG Arg

CCG Arg
CGU Thr
GAU Ile

GUU Asn
NUU Lys
CAA Leu
MGA Ser
GAG Leu
UAA Leu
5AG Leu
CAG Leu
GCU Ser
GGA Ser

CAU Ini 1

K UGU Thr

NCA Trp
UAC Val
CAU Ini 2
{ UGC Ala
#AA Phe
GUA Tyr
75 NAA Leu
UAG Leu

55— GPATyr 1

L GPA Tyr2

NUG GIn
BCATip 1
BCA Trp 2
JUG GIn
GCU Ser
CGA Ser
&GA Ser
59 IGA Ser 1
IGA Ser 2

64

CAG Leu
1CA Sec

9PA Tyr 1
9PA Tyr 2
BAU Met
QUU Asn
#AA Phe
GAU lle
GCU Ser
CAU Ini
.AALeu
IGCAla 1
IGC Ala 2
CCC Gly
GCC Gly
CUC Glu
GUG His
.AC Val
UG Asn
NUG Gln 1
NUG GIn 2
.AA Leu
UGA Ser
NCA Ser

NCU Arg
UUG GIn
GUU Asn
GUC Asp
UGG Pro
NGG Pro
NGU Thr
NCC Gly
NUG GIn
AU Ile

UAG Leu
NAA Leu
NGA Ser

<AU Ile
CAU Met
CCATrp
NGG Pro
NAC Val
CAU Ini
GAA Phe
GAU lle
GGU Thr
UA7 Leu
IGA Ser
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#AA Phe
)UU Lys
CUU Lys
QPA Tyr
CAU Ini

IAC Val

NAC Val
CAC Val
2UC Glu
GUG His
CGA Ser
IGA Ser

GCU Ser

GPA Tyr
GPA Tyr
#AA Phe
BAU Met
CAU Ini
GCC Gly
CUC Glu
GUG His
L ;UUAsn
IAC Val
TAU Tle
1GG Pro
CGA Ser

CUG GIn
JUG GIn
CUC Glu
CUN Lys
BAU Met
TAU Ile
#AA Phe
#AA Phe
:AA Phe
1GG Pro
NGG Pro
ICG Arg 1
ICG Arg 2
CUU Lys
CAU Ini
IAC Val
NCA Sec

BCATrp 1
CAU Ini 2
CAU Met
GAA Phe 1
GAA Phe 2
BCATrp 2
CAU Ini 1
CAU Ini 3
UGG Pro
AAlLeul
AALeu?2
AAlLeud
AAlLeus
AG Leu 6
\AG Leu
AAleu3
AALeu7
UATyr
NAA Leu
BAA Leu
UAT7 Leu

CCG Arg
D 61 - GAUIle'1

GAU Ile 2

QUC Asp

SUC Glu 1
b[- SUC Glu 2
NCC Gly
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79- GAC Val 1
GAC Val 2
L rcuaArgl
—— {CU Arg 2
—— CCA Trp

YAU Tle
SUU Lys
QUU Asn
GCA Cys
CUG GIn
QUA Tyr 1
QUA Tyr2
HAA Leu
CAG Leu
GAG Leu
76 GGA Ser 1
GGA Ser 2
VGA Ser
CGA Ser
GCU Ser
UCA Sec

99— NGG Pro 1

(0] NGG Pro 2

IGC Ala
GCC Gly
85 GUG His 2
GUG His 3
GUC Asp

9% #AA Phe 1
L #AAPhe2
| 81— ICUAr]

1CU Arg 2

IGU Thr 1
£ 1GU Thr 2
f—— ICA Ty
&AC
)UU Lys
.CCG!
3UC Glu
ACG Arg
f—————— BCATrp
—— CAC Val
f——————— CAUIni |
CAU Ini 2
CAU Met 2
CUU Lys
GAA Phe
GCA Cys
GPA Tyr
GUG His 1
GUU Asn
TAC Val
TAU Ile
ICG Ar;
NCC Gly

— — NCU Arg

NUU Lys
UAG Thr
UGG Pro

7 91— UAALeu
4‘—£ UAG Leu
CAALeu

73 C UGA Ser 1

UGA Ser 2
—— !AALeu
GCU Ser
GUA Tyr
IGA Ser 1

IGA Ser 2
NGA Ser

CUG GIn
GUG His
GCG Arg
GCC Gly
CGC Ala
GGU Thr
58 65— CAC Val2
GAC Val
CAC Val 1
CAU Ini
GUU Asn
MGA Ser

AGU Thr

J ICG Arg
UGU Thr
CUU Lys
GUK His
GAA Phe
BCA Trp
UCC Gly
ICU Arg
)CA Trp
'UU Lys
UGC Ala
UGG Pro
GUU Asn
UAC Val
CAU Ini
CAU Met
GUC Asp
JAU Ile
GAU Ile
'UG GlIn

'UC Glu
GCA Cys

GUA Tyr

56~ JAA Leu
74 BAA Leu
UAG Leu

UGA Ser

GCU Ser

73~ QUC Asp
GUC Asp
UCG Arg
NCA Trp
GAA Phe
UAC Val
UAC Val
NUU Lys
UAG Leu 2
UAG Leu 1
UAG Leu
GUC Asp
8UC Asp
3UC Glu
CUG Gln
54 61— CUU Lys 1
69 CUU Lys 2
3UU Lys
QUU Asn
[ GUU Asn
- TACVal
.AC Val
GCU Ser
493E IGA Ser
IGA Ser
<AALeu 1

100 C
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